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SECTION -1
HrE—1
Note : This section contains five (3} questions based on the following

paragraph. Each guestion should be answered in about thirty (30
words and each carries five (5 marks.

(5x5=25 m
LA o wa o Pk sersky v awmpdi TR (5 09 E 0EE 0w

aymwr @E (30wl F atfwe By owene uss w5} Y W @
%)

Read the folloudng and answer guestions from 1 to 5: O

CONSTUMPTION Vs, INFRASTRUCTTL!

g
Over the pastthree years the average growth in India’s sbeen 8% compared

with 5.5% in the proceeding three years. At the heaft of cceleration in growth
has been the sharp rise in capital flows dependent on al ek appetite. Curmulatively,
over the last three years India has received capifa ws of § 76 billion compared with
$ 28 billion in the proceeding three years. gl
allowed the governmnent to pursue relatd

A large part of this borrgfvitg been used to boost consumption. Ideally, the

2 have generated stepped - up investinent by the
ast five years, corporates have been reducing their
capex to depreciation has been falling despite tise in

corporate sector. How
debt - to - equity - rafi
return on equity.

But whyis the mix #lted towards consurnption 7 This skewed trend is
nrftance in the public sector. India’s infrastructure spending is close
et after the recent pick - up. After years of decline in infrastructure
proportion of GDT, the governmernt appears now to be increasing its
Irvestrnents in infrastructure {Jargely through SFV structures). In addition,
etched capacity utilisation is prompting some response from corporates.
owever, the corporate sector is not yet pursuing a full - blown capex cycle as the
ernnent is stll proving slow to implement investment in infrastructure. On an
agpresate basis, the forelpn liquidity flows have boosted consurnption by governrent
and households more than Investnents.

There is dearly anurgent need for aggressive investmentin infrastructure to correct
the imbalance, particularly given the large additions to the country’s labour force each
other; about 14 million people in the 15 to 85 years age group (the figure for China is
orly 2 million}.
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In addition, the unemployed population in India is already too large for the
country to be able to afford a weak investment environment and low job creation.
About 350 million people live onincomne of less than $.1 {pp Adjusted) a day, iIndicating
that the country’s huge rurmber of unemnployed is likely to become a major challenge.
Both China and India have the problemn of a risking work force. However, it has so far
evoked different responses fromn the two governments. While China is focused on
Infrastructure spending Iifting overall Investinent and creating new productive job
rampent pace, India is using its public finances to increase populist reverue &

developrnent because it improved domestic capacty utilizsation. But s
rising proportion of the consumption growth has been met thr
otherwords, incrementally every rupee of consumption boosted
gererating the sarne positive irmpact on dornestic output and corporate
as it did when capacity utilisation was low. VS

gz @ gt B swwn wy 2BRT e U T (W3 (P GE LR At o |
& @ adt & Sum ux iy oy oy gl W o vl & g g, e vty o vy wwd w1
spge v i, To wamy F Gul B 9 gt gael @ g tHemer s duhie By f{ frrzzey o
T 5:; iz o W ol s R R et

w1 wET By owwrteet awy ween 9 % W
=g YR ST W W T O U ST R
UEET Wl e T e g i gkad uk m i
fory B e By awee P ) wefye mowew g

et R aﬂ‘? T g w & e im Ciaf zéz‘"fs TE 2 TR SRELE é'f%ﬁ i*; 2 Brdw
T E e uR AT EEgw ey 1 TR st sapm wr o i T wadie
Bty andr s ¥ Yoy e et ) Pen o e e e o wep e fuier wrd ws
v Ad v el aprn @R d e e wn an d vmmoal v el g

TR Bl W, pn kel el wapm ) metRet gap RO O wn, Trdw B ahpp ana
e fon
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Hxvre & e aw andeem o wd wr ¥ P ampem o9 vhen Pl wnd o ameny
mEwEre By waT mmwrre fagy ey F ey oF B % dwm ¥ ufyw aw F wela ad
atpefpr Fen d iy S Y 15 ¥ 65 99 % 2w ¥ 14 Taferr athw gw Ao F whad
W5 R (A g e e o Ml By ped st s o el wt ag ad e
F Yand Fo v wde Ty e sp e g F Sal ¥ o Erere w4 3w vy
A Ey v o s 350 Puferr ol wRifes 1 w8 oWy wT any ORORE W v
LY U W W I Fow om a w o ovem wwn ¥ Brodw & Vonw Ve demr
e Wy gt at ad By ng wsp il gl E v v u e ul
aspf, o o @ weed o whteed fea iy wl Wi R, PP e g g o
Ty AT Ay e ot Teefed & owety avrm roown sy ey o
Eat-ahea kA iR LRy Dt s b AR L L e A RIS
wmE

1. Whatis the trend of growth in 1

pistins R Vi I R AR e R P P w7 ot oy WD
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2. Do you think that capital inflows towards India during last six years are healthy ?
Why ?

w s Tey vl F B e T e ol edam wnm np B

3. What was the main purpose for w e part of the borrowings has been used ?

wpfeft i e gl vy g @ T W W}
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4.  Will you give priority to investment in infrastructure over consumption ? Why ?

A e R T Yrdw e ot w Yrdw § afinr araty & aty

5. Whatis the hnpact of consumption by borrowings on Indian economy ?

ESE T AN WA B 7
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SECTION - II
=/rE —11
Note : This section contains fifteen (13} questions, each to be arswered in

about thirty {30 words. Each question carries five (5 marks.
{(5x15=75 marks)

HE T8 Wy 0 Wiy (5-5) aket & odey (15) weE By waE U w S
FE AR {30} wET o avhar By WENE W R {5y E @ Q
5

O
<
6.  State three objectives of economic planning.
aipr Pefms & of wbed ey wdmy w

&)
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7.  QOufline three objectives of Cash Flow Staternent.
ol o R s bl ol Sl e i ol e B B

8.  State three applications of Ma

ey Faomy o ofueey i B Gapplications) @y
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9.  Differentiate between oligopoly market and monopolistic market.
sl aep Ay W dtw we s

10. Define sampling and give two advarlgees
R (sampling) %7 wfsug ¥ & T ey
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11. Iscorrelation coefficient of 0.6 caloulated from 27 observations is significant at 5% level
of significance ? Why ?

Wy = 0.6 THE W 27 Hipnet & Preww g B 0% & wraey afw Nevetteis w teaitepe By

ental features ?
W Yyt wn ¥
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13. State the berefits of Marketing Plarming.
ety e o w fody

14. State three factors taken into co HorPfor product decision.

ez Ergel Yooy O may ol Heryy e Aed a wd )y
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15. Define working capital and give various components of working capital.

wrHEEe Ul T e & AR I Tfve wrad @y wamm why

AK

Give three examples.

16. What do you mean by frings
oy Efaboe & 2o ey TR 97

o T
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17. State the advantages of job analysis.
W watalee ¥ ardet wy ady wly

AK

15. State the characteristics of the ’ ha%e of Banking Sector Reforms’ in India.

i Bamn & Yoty ww F ol E iy wEwE Ty
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19. Differentiate between Balance of Trade and Balance of Payment.

A= e I3 wn O o THR w e v wh

20. Explain irnternational lguidity.
HRETH T (internatio T S EITAT
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SECTION - III
HrE 111

Note : This section contains five (3 questions from each of the electives /
spedalisations. The candidate has to choose prly one elective / specialisation
and answer all the five questions from it. Each question carries twelve {12}

marks and is to be answered in about two hundred 200} words.
(12x5=60 )

o 5wy v therr pevd/fadmam § Fa 05y e By vt ar g
where pevd/ Yz oy e S A B T e ge Ty g
(123 B B wewr TRl wennr 2 8 (2000 wad o avtue B

Elective - I O

ot S |

21. Trscuss the effects of inflatio

22, State the objectives
of an Investment

Define Lease Financing and explain its importance for a large business organization.
WA revpATal T wouw wWET ap TeEt gl v 9w & oo g wl)

25. DHscuss the role of SEB] in protecting the interest of Investors.

Frdeweet & e & s Re o iy w8 wat aie
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21.

2z,

23,

24,

25,

21.

OR / 31

Elective - II
e — 11
(Marketing)
{ feymom )

“Marketing WMix elements are called marketing variables”. Discuss
“opdltie fgaw ¥ wadt o i AP e B et wiley

Explain the steps to be followed to deterznine the price

Tpwl wf ga wt wime g F @ 8 wey Iwy we B\
et behaviour.

AR PR aerpE o e E T W 'ﬂ?{é‘?ﬁ % Rt E e Wt T

DHscuss in brief the various techrigques to study,

How is a sound marketing mix pa ermined and monitored in Service Sector 7

way am H vy okl fyan Tew g0Npp iy @t &b w9 )

Whatis rural marketing the strategies adopted by corporate glants to penetrate
the rural market.

-Efé*’{ﬁ'ﬂg ""ﬁ&“E‘{E igi .{’g i AT fi 5555'13-::' Teh EE a; et Eﬂg <-.3¥-§§ et 351-.%% '-'.ii..ﬂért:!:
3 ?
T ::<{<:--i§ E'E: H EEE]- l

OR ; 319

Elective - 111
Ecore S | ||

(Human Resource Management)

{ W HEIYE g )

Discuss the needs for training and development of employees.
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Erstel & P vd e B ol aearwrnmal wr wwt gl

22, What do you mean by employee morale 7 Give your suggestions for improving the
SAeE.

aa

- A B BT W RS §7 s Ay ¥ v aert ama €

23. Explain briefly any two methods of performance appraisal
s siwe wl Real O bR al Wiy epen w1

24. What do you mean by job spedfication ? Discuss it with an exam@

W PIETEEET B 2 W BHE B TR viaemy ww wly
2

25, Critically examine the industrial relations in India J ife years.
Py offa et & S g F AREe S W seEge I w1l

you advocate full convertibility of Indian rupee ? Explain.

iy sy et ue agddt EuseR 7 v aly

23, Critically examine the comprehensive free trade agreement between India and
Singapore.

pRakicihotui e R vks YLtk p Rt i s e R LA e o g
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24. What do you mean by foreign exchange risk 7 What are the steps for managing it ?
et e R CE R R s R e AR e A CE R AR i A S R e s B HR S o

25. “Flls are not playing the desired role in the Indian Capital Market”. Do you agree ?
Why ?
" ﬁg{'ﬂq ‘qj"r YT g:; ?aéggr R ‘F\:ra'ggq: EHS} a’fﬂ' mﬁﬁpg :f.w'r ?:r?,gg {3’ = gy *'g}i
wEa Ry Wy

OR / sToe ()
Elective - V
e —v L 4
{Income-Tax Law and Tax Pla
{ STEERY |

21. How taxable income of newly established st dertaking in a special economic
zone is computed 7 Explain.

TSy 2uTE s 0 TR el ey
B T

1Y el aeep Y v B wr wdl By

22, Define tax planning. Wi
a Gross Salary of

Tar T oy o

Explain briefly the incomes which are exernpted from tax.
sey & w wel al vy epen w1 W@ an B et am

25. DHscuss the applications of computer in Incomne Tax and Tax Planning.
sepET e Taw s weegan ¥ s wT we wh
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SECTION - IV
BUE_IV

Note : This section corsists of orne essay type question of forty {40} marks to
be answered in about one thousand {1000 words on any of the
following topics. This question carries 40 marks.

{40x1=40 ma
HE T8 EEH wE wes [ 40) i w Pryaperr wys B ey awe Proetats
fareaft B B dpap UED TR, RYIEINT UEE WWH L 1000} wE F arifwa iy
)
26. DHscuss the role of SMEs Sector in the development of Indian Econo
ity svseren & Yo f weound @ sfusy t ww wh A4

OR / a9

Explain the concept of NPAs In the Barking 5
thern.

the steps taken to reduce

b g o R AUER, wY pIy R Py %
THET g Ty

What do you mean by Co ipl Responsibility 7 THscuss with examples, how
the Indian comnpanies are o their social responsibilities In recent timnes.

e foet E ow
wrpduer e wr |

gy by B me B oway o wity dobny sy

Pt By et s
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